

الف) $a_n: \frac{1}{n}$ و $a_1 = \frac{1}{1} = 1$ $q = \frac{1}{2} = \frac{1}{2}$ $a_{11} = \frac{1}{2^{10}} = \frac{1}{1024}$

$\frac{a_{11}}{a_1} = \frac{1}{1024} = \frac{1}{2^{10}}$

$\pm \sqrt{a_n \cdot a_1} = \pm \sqrt{\frac{1}{n} \times \frac{1}{1}} = \pm \frac{1}{\sqrt{n}} = \frac{1}{2^{10}} \Rightarrow \frac{1}{\sqrt{n}} = \frac{1}{2^{10}} \Rightarrow \sqrt{n} = 2^{10} \Rightarrow n = 2^{20}$

$128 = \frac{1}{2} \times 2^{10} \Rightarrow 128 = a_9$

$a_8 = 17$
 $a_1 = 94$ $q = \frac{a_1}{a_8} = \frac{94}{17} = 1 \Rightarrow q = 2$ $a_{11} = a_1 q^7 = 94 \times 2^7 = 12144$

$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 2^4 \times 3^2$
 $\frac{1}{q^7} \times \frac{1}{q} \times V \times Vq \times Vq^2 = 2^4 \times 3^2 \Rightarrow V^5 = 2^4 \times 3^2 \Rightarrow V = 2^4 \times 3^2 = 144$

$a_1 \times a_8 = a_4^2 \Rightarrow 9$

$a_n: 2^a, \sqrt{2}, 2^b$
 $\left. \begin{array}{l} a+x = \frac{a}{2} \\ b+x = b \end{array} \right\} \Rightarrow \frac{a+b}{2} = \frac{a}{2}$

$a_n = 1 - x/a_v = x/a_{11} + 1$

$a_v^r = a_n \cdot a_{11} = x^r = (1-x)(x+1)$

$x^r = -x^r + 1$
 $2x^r = 1$
 $x^r = \frac{1}{2}$
 $x = \pm \frac{\sqrt{r}}{r}$
 $x = \pm \frac{\sqrt{r}}{r}$

$$a_1 + a_2 = 12 / a_1 + a_2 = 12$$

$$\frac{a + aq^n}{a_1 + a_2} = \frac{a(1+q^n)}{a(1+q)} = \frac{(q+1)(q^n+q+1)}{(q+1)q} = \frac{12}{12}$$

$$\begin{cases} q = 2 \Rightarrow a_1 = 2V \\ q = \frac{1}{2} \Rightarrow a_1 = 2V \end{cases}$$

$$\frac{a_1}{a_1+12} = \frac{1}{2} \Rightarrow \frac{1}{1+\frac{12}{a_1}} = \frac{1}{2} \Rightarrow \frac{1}{1+\frac{12}{a_1}} = \frac{1}{2} \Rightarrow \frac{1}{1+\frac{12}{a_1}} = \frac{1}{2}$$

$$12q^n - 12q + 12 = 12q \Rightarrow 12q^n - 12q + 12 = 0 \Rightarrow 12q^n - 12q + 12 = 0 \Rightarrow q^n - 1 + 1 = 0 \Rightarrow q^n - 1 + 1 = 0$$

$$a_1 + a_2 + a_3 = 12$$

$$a_1 \cdot a_2 \cdot a_3 = 2V \Rightarrow a_1 = 2V$$

$$\begin{cases} a_1 + a_2 = 12 \\ a_1 \cdot a_2 = 2V \end{cases} \Rightarrow a_1 + a_2 = 12 \Rightarrow a_1 = 12 - a_2 \Rightarrow a_1 \cdot a_2 = 2V \Rightarrow (12 - a_2) \cdot a_2 = 2V \Rightarrow 12a_2 - a_2^2 = 2V \Rightarrow a_2^2 - 12a_2 + 2V = 0$$

$$a_n: \frac{1}{2}, \frac{1}{4}, \frac{1}{8}, \dots \Rightarrow a_n = 2^{n-1} \times \frac{1}{2} \Rightarrow a_1 = \frac{1}{2} \quad a_2 = \frac{1}{4}$$

$$S_n = a \frac{(q^n - 1)}{(q - 1)} = \frac{1}{2} \frac{(2^n - 1)}{2 - 1} = \frac{2^n - 1}{2} = 09.51$$

$$a_n: a, aq, aq^2, aq^3, \dots \rightarrow \text{یک دنباله هندسی}$$

$$b_n: a - aq, aq - aq^2, aq^2 - aq^3, \dots \rightarrow \text{اختلاف متوالیتهای هندسی}$$

$$a(1-q), aq(1-q), aq^2(1-q), \dots \Rightarrow b_n = a(1-q)$$

$$\begin{cases} a_1: \frac{1}{2}, \frac{1}{4}, \frac{1}{8}, \dots, a_n = \frac{1}{2^n} \\ b_n: -\frac{1}{4}, -\frac{1}{8}, -\frac{1}{16}, \dots, b_n = -\frac{1}{2^n} \end{cases}$$

$$S_n = a_1 + a_2 + a_3 + \dots + a_{n-1} + a_n$$

$$1+n = 2 \times (n-1) \Rightarrow a_1 + a_n = a_1 + a_{n-1}$$

$$S_n = \frac{n(a+L)}{2} = \frac{n}{2}(a+L) = \frac{n}{2}(a+a+(n-1)d) = \frac{n}{2}(2a+(n-1)d)$$

$$S_n = a + aq + aq^2 + \dots + aq^{n-1}$$

$$S_n q = aq + aq^2 + aq^3 + \dots + aq^n \Rightarrow S_n q - S_n = aq^n - a = a(q^n - 1) = a(q^n - 1)$$

$$S_n - a_1 = aq^n$$

$$S_n = a \frac{(q^n - 1)}{(q - 1)}$$